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4U1636-536-JEMX1-MJID53232.066827_lc.txt / MJD 53232.066846 / burstid=5087
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= Grey line: exponential fit Peak flux: 2.310+/- 0.691 c/s/cm? =
E Black line: power law + gauss fit Fluence : 39.93+/- 8.15 c/cm? E
= Dashed fine: power law Duration : 54. 75+/- 1.2 07 s =
— Best fit model: 1. —
= Best fluence model: 1. .
= Best duration model: 1. -
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; Exponential fit é
= Expon.time: 18.91+/- 4.23 s (chi*red= 1.14) 3
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; Power law fit é
E Power law index: -1.576+/- 0.262 (chi*-red= 1.15) =
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—  Power law fit plus Gaussian (st.dev.= 34.04+/- 7.72 s, fracgs= 0.52+/- 0.32) =
- Power law index: -2.422+/- 2.569 (chi’-red= 1.14) -
ST T TR EAr A ATUNITIATR. bt b bt b T
= ‘H%Hﬁwﬁ% it it HW + Hﬂw HWH# M Mw ﬁﬁjﬂmﬂ:j*ﬁ+:++m+ m mﬁﬂﬁﬁfﬁﬂWwHﬂwﬁﬁ%ﬂWH wﬁﬁwwm ﬁnHﬁﬂwmﬁHWH%
E | I | I I | I I E

0 100 200 30

0



